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Modelltest 1 – Lösung zum Leseverstehen 

 

 

Teil 1 

1a (Z. 6/7) 6c (Z. 38/43) 

2c (Z. 12/15) 7d (Z. 50/52) 

3a (Z. 21/23) 8a (Z. 55/59) 

4b (Z. 25/26) 9b (Z. 67/70) 

5c (Z. 31) 10b (Z. 77/78) 

 

 

Teil 2 

11G, 12A, 13D, 14H, 15E, 16C, nicht: B und F 

 

 

Teil 3 

17C, 18G, 19B, 20F, 21E, 22A, nicht: D 

 

 

Teil 4 

23D, 24A, 25C, 26A, 27B, 28C, 29B, 30D 

 

Bewertung LV 

Teil 1 x 4 

Teil 2 x 3 

Teil 3 x 3 

Teil 4 x 3 

= 100 Punkte 

Modul ist mit 60% bestanden 

 

 

 


